
Practice BEDMAS 
 
Example: 
  (3 x 4) + 24 – 10 ÷ 2 + 5 x 3 
 B = 12  + 24 – 10 ÷ 2 + 5 x 3 
 E = 12  + 16 – 10 ÷ 2 + 5 x 3 
 DM =  12 + 16 -      5      +    15   
 AS =      48  (Tip: remember to add & subtract in order from left to right.) 
 

1. (3 x 5) + 102 – 20 ÷ 2 + 4 x 3 
 

2. 24 ÷ 2 + 2 x 32 + (7 x 2) - 22 
 

3. (3 x 8) + 52 + 10 x 3 – 30 ÷ 2 
 

4. (7 + 3)2 + 24 – 20 ÷ 2 + 5 x 3 
 

5. 103 – 50 ÷ 2 + 4 x 3 - (3 + 2)2  
 

6.  (4 x 2)2 + 34 – 60 ÷ 2 + 9 x 3 
 

7. 102 – (16 + 14) + 4 x 3 – 12 ÷ 3 
 

8. 52 + 102 x 3 – (24 + 16) + 30 ÷ 2 
 

9. 103 – 20 ÷ 2 + 5 x 32 - (23 x 2)  
 

10.  102 ÷ 2 + 5 x 4 + (3 x 6) - 52 
 


